

# Auto-Bäcklund Transformation And Exact Analytical Solutions For The Kupershmidt Equation \*

Tie-cheng Xia<sup>†‡</sup>

Received 8 August 2002

## Abstract

The homogenous balance method in [1,2] is improved and applied to the Kupershmidt equation. As a result, some families of exact analytical solutions are derived.

## 1 Introduction

Wang in [1,2] proposed a homogenous balance method (HBM) for constructing soliton solutions. The purpose of the HBM is to search for exact solution of nonlinear evolution equations or nonlinear partial differential equation. Zhang in [3,4] generalized Wang's result and obtained multi-soliton solutions for some equations.

The HBM has two main step: the first one is to set the order of the highest linear item in the equation in concern equal to the order of the highest nonlinear item. The second one is to set up nonlinear transformations.

For a given nonlinear partial differential equations, say, in two variables  $x, t$

$$P(u, u_t, u_x, u_{xx}, u_{xt}, \dots) = 0, \quad (1)$$

where  $P$  is a polynomial function and the subscripts denote partial derivatives. Wang obtained the following relation from the first step of the homogenous balance method

$$u(x, t) = f(\phi, \phi_t, \phi_x, \phi_{xt}, \phi_{xx}, \dots) + u_0, \quad (2)$$

$$F_i(\phi_1, \phi_t, \phi_x, \phi_{xt}, \phi_{xx}, \dots) = 0, \quad i = 1, 2, \dots, n, \quad (3)$$

where  $\phi = \phi(x, t)$ ,  $f$  is a known function and  $F_1, \dots, F_n$  are homogenous functions with respect to various derivatives of  $\phi$ . In order to search for the function  $\phi$ , Wang assumed that  $\phi(x, t) = 1 + e^{\alpha x + \beta t + \gamma}$ . Then solitary wave solutions were derived. However, in view of the homogenous property of (3), we can make more formal assumptions, so that additional exact solutions for (1) can be found. These solutions contain the results of Wang and Zhang.

---

\*Mathematics Subject Classifications: 35Q51, 35Q99

<sup>†</sup>Department of Mathematics, Jinzhou Normal College, Jinzhou 121000, P. R. China

<sup>‡</sup>Department of Applied Mathematics, Dalian University of Technology, Dalian 116024 P. R. China

## 2 Exact Solutions for Kupershmidt equation

As illustrative examples, we consider the following Kupershmidt equation [4,5]

$$u_t + uu_x + H_x + \delta u_{xx} = 0, \quad (4)$$

$$H_t + (Hu)_x - \delta H_{xx} = 0. \quad (5)$$

In order to 'balance' the orders of  $u_{xx}$  and  $uu_x$ ,  $H_{xx}$  and  $(Hu)_x$ , suppose equations (4) and (5) have the following transformations

$$H = f''\phi_x^2 + f'\phi_{xx} + H_1(x, t), \quad (6)$$

$$u = f'\phi_x + u_1(x, t), \quad (7)$$

where  $H_1$  and  $u_1$  are the solutions of equations (4) and (5). By taking  $H_1 = 0$ ,  $u_1 = d$  where  $d$  is a constant, it is clear that  $(0, d)$  is also a solution of equations (4) and (5). Therefore equations (6) and (7) are transformed into the following form

$$H = f''\phi_x^2 + f'\phi_{xx}, \quad (8)$$

$$u = f'\phi_x + d. \quad (9)$$

After substituting (8) and (9) into equations (4) and (5), with the help of Maple, we may obtain

$$\begin{aligned} & [f'f'' + (1 + \delta)f^{(3)}]\phi_x^3 + (\phi_x\phi_t + d\phi_x^2 + 3\phi_x\phi_{xx} + 3\delta\phi_x\phi_{xx})f'' \\ & + (\phi_{xt} + d\phi_{xx} + \phi_{xxx} + \delta\phi_{xxx})f' + (f')^2\phi_x\phi_{xx} \\ = & 0, \end{aligned} \quad (10)$$

$$\begin{aligned} & (f'f^{(3)} - \delta f^{(4)} + f''^2)\phi_x^4 + (\phi_x^2\phi_t + d\phi_x^3 - 4\delta\phi_x^2\phi_{xxx})f^{(3)} \\ & + 5\phi_x^2\phi_{xx}f'f'' + (2\phi_x\phi_{xt} + \phi_t\phi_{xx} + 3d\phi_x\phi_{xx} - 3\delta\phi_{xx}^2 - 4\delta\phi_x\phi_{xxx})f'' \\ & + (\phi_{xxt} + d\phi_{xxx} - \delta\phi_{xxx})f' + (\phi_x\phi_{xxx} + \phi_{xx}^2)(f')^2 \\ = & 0. \end{aligned} \quad (11)$$

Setting coefficients of  $\phi_x^3$  in (10) and  $\phi_x^4$  in (11) to zero respectively, we get

$$f'f'' + (1 + \delta)f''' = 0, \quad (12)$$

$$f'f''' + f''^2 - \delta f^{(4)} = 0. \quad (13)$$

From (12) and (13), we arrive at the special solution

$$f = -2\delta \ln \phi. \quad (14)$$

Therefore equations (4) and (5) have the following Auto-Bäcklund transformation:

$$H = -2\delta \frac{\partial^2}{\partial x^2} \ln \phi = -2\delta \frac{\phi_{xx}}{\phi} + 2\delta \left( \frac{\phi_x}{\phi} \right)^2, \quad (15)$$

$$u = -2\delta \frac{\partial}{\partial x} \ln \phi = -2\delta \frac{\phi_x}{\phi} + d. \tag{16}$$

From (14), we also have

$$f' f'' - \delta f^{(3)} = 0,$$

$$(f')^2 - 2\delta f'' = 0.$$

Then after substituting (14) and above relations into (10) and (11), and setting the coefficients of  $f''$ ,  $f'$  in (10) and  $f'''$ ,  $f''$ ,  $f'$  in (11) to zero, we see that  $\phi$  satisfies the relation

$$\phi_x(\phi_t + d\phi_x - \delta\phi_{xx}) = 0, \tag{17}$$

$$(\phi_t + d\phi_x - \delta\phi_{xx})_x = 0, \tag{18}$$

$$\phi_x^2(\phi_t + d\phi_x - \delta\phi_{xx}) = 0, \tag{19}$$

$$2\phi_x(\phi_t + d\phi_x - \delta\phi_{xx})_x + \phi_x(\phi_t + d\phi_x - \delta\phi_{xx}) = 0, \tag{20}$$

$$(\phi_t + d\phi_x - \delta\phi_{xx})_{xx} = 0, \tag{21}$$

provided that

$$\phi_t + d\phi_x - \delta\phi_{xx} = 0. \tag{22}$$

From (22), we can guess at the form of solutions: (i) exponent function; (ii) product of trigonometric function and exponent function; (iii) polynomial function; (iv) product of hyperbolic function and exponent function; (v) linear combination of the above four types of functions.

To find more solutions of (22), we need to discuss the following cases:

Case 1. First suppose (22) has the following formal solution

$$\phi_1(x, t) = l_0 + \sum_{i=1}^n l_i e^{(\alpha_i x + \beta_i t + \gamma_i)}, \tag{23}$$

where  $\alpha_i$  and  $\beta_i$  are to be determined later;  $l_i$  and  $\gamma_i$  are arbitrary constants and  $l_j \neq 0$  for  $j = 0, 1, 2, \dots, n$ . Substituting (23) into (22) yields

$$\beta_i + d\alpha_i - \delta\alpha_i^2 = 0, \quad i = 0, 1, 2, \dots, n. \tag{24}$$

Finally from (23) and the Bäcklund transformation (15)-(16), we can obtain multi-soliton solutions for equations (4) and (5)

$$u(x, t) = -2\delta \frac{\sum_{i=1}^n \alpha_i l_i e^{[\alpha_i^2 x + (\delta\alpha_i^2 - d\alpha_i)t + \gamma_i]}}{l_0 + \sum_{i=1}^n l_i e^{[\alpha_i x + (\delta\alpha_i^2 - d\alpha_i)t + \gamma_i]}} + d, \tag{25}$$

$$H(x, t) = -2\delta \frac{\sum_{i=1}^n \alpha_i^2 l_i e^{[\alpha_i x + (\delta\alpha_i^2 - d\alpha_i)t + \gamma_i]}}{l_0 + \sum_{i=1}^n l_i e^{[\alpha_i x + (\delta\alpha_i^2 - d\alpha_i)t + \gamma_i]}} + 2\delta \left[ \frac{\sum_{i=1}^n \alpha_i^2 l_i e^{[\alpha_i x + (\delta\alpha_i^2 - d\alpha_i)t + \gamma_i]}}{1 + \sum_{i=1}^n l_i e^{[\alpha_i x + (\delta\alpha_i^2 - d\alpha_i)t + \gamma_i]}} \right]^2 \tag{26}$$

which are the solutions obtained by Zhang [5] under the conditions  $l_0 = l_1 = \dots = l_n = 1$ . When  $n = 1$ , two sets of solitary wave solutions of equations (4) and (5) can be written as follows:

$$u_1(x, t) = -\alpha_1 \delta \tanh \frac{1}{2} \left[ \alpha_1 x + (\delta \alpha_1^2 - d \alpha_1) t + \gamma_1 + \ln \frac{l_1}{l_0} \right] - \frac{1}{2} \alpha_1 + d, \quad l_1 l_0 > 0, \quad (27)$$

$$H_1(x, t) = -\frac{1}{2} \alpha_1^2 \delta \operatorname{sech}^2 \frac{1}{2} \left[ \alpha_1 x + (\delta \alpha_1^2 - d \alpha_1) t + \gamma_1 + \ln \frac{l_1}{l_0} \right], \quad l_1 l_0 > 0, \quad (28)$$

which are solitary wave solutions obtained by Wang [2], and

$$u_2(x, t) = -\alpha_1 \delta \coth \frac{1}{2} \left[ \alpha_1 x + (\delta \alpha_1^2 - d \alpha_1) t + \gamma_1 + \ln \left( -\frac{l_1}{l_0} \right) \right] - \frac{1}{2} \alpha_1 \delta + d, \quad l_1 l_0 > 0, \quad (29)$$

$$H_2(x, t) = -\frac{1}{2} \alpha_1^2 \delta \operatorname{csch}^2 \frac{1}{2} \left[ \alpha_1 x + (\delta \alpha_1^2 - d \alpha_1) t + \gamma_1 + \ln \left( -\frac{l_1}{l_0} \right) \right], \quad l_1 l_0 < 0 \quad (30)$$

which are singular solitary wave solutions missing in [2]. They may be called blow-up solutions.

Case 2. We can also find the following formal solutions of (22):

$$\phi_2(x, t) = a_0 + \sum_{i=1}^n \sin \sqrt{-\left(\frac{d}{2\delta}\right)^2 + \frac{c_i}{d}} x \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right), \quad (31)$$

and

$$\phi_3(x, t) = a_0 + \sum_{i=1}^n \cos \sqrt{-\left(\frac{d}{2\delta}\right)^2 + \frac{c_i}{d}} x \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right). \quad (32)$$

Substituting (31) and (32) into Bäcklund transformation (15) and (16) respectively, we have two kinds of new exact solution for equations (4) and (5)

$$u(x, t) = -2\delta \frac{\sum_{i=1}^n [\Psi_i \cos \Psi_i x + \frac{d}{2\delta} \sin \Psi_i] \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right)}{a_0 + \sum_{i=1}^n \sin \Psi_i x \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right)} + d,$$

$$\begin{aligned} H(x, t) &= -2\delta \frac{\sum_{i=1}^n \left[ \left( 2\left(\frac{d}{2\delta}\right)^2 - \frac{c_i}{d} \right) \sin \Psi_i x + \frac{d}{2\delta} \Psi_i \cos \Psi_i x \right] \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right)}{a_0 + \sum_{i=1}^n \sin \Psi_i x \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right)} \\ &+ 2\delta \frac{\left[ \sum_{i=1}^n \Psi_i \cos \Psi_i x + \frac{d}{2\delta} \sin \Psi_i x \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right) \right]^2}{\left( a_0 + \sum_{i=1}^n \sin \Psi_i x \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right) \right)^2}, \end{aligned}$$

$$u(x, t) = -2\delta \frac{\sum_{i=1}^n \left[ \frac{d}{2\delta} \cos \Psi_i - \Psi_i \sin \Psi_i \right] \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right)}{a_0 + \sum_{i=1}^n \cos \Psi_i x \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right)} + d,$$

$$\begin{aligned} H(x, t) &= -2\delta \frac{\sum_{i=1}^n \left[ \left( 2\left(\frac{d}{2\delta}\right)^2 - \frac{c_i}{d} \right) \cos \Psi_i - \frac{d}{\delta} \Psi_i \sin \Psi_i \right] \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right)}{a_0 + \sum_{i=1}^n \cos \Psi_i x \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right)} \\ &+ 2\delta \frac{\left[ \sum_{i=1}^n \left[ \frac{d}{2\delta} \cos \Psi_i - \Psi_i \sin \Psi_i \right] \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right) \right]^2}{\left( a_0 + \sum_{i=1}^n \cos \Psi_i x \exp \left( \frac{d}{2\delta} x - c_i t + a_i \right) \right)^2}, \end{aligned}$$

where

$$\Psi_i = \sqrt{\frac{c_i}{d} - \left(\frac{d}{2\delta}\right)^2}.$$

Case 3. Suppose that  $\phi$  in (22) has the following formal rational analytical solutions

$$\phi_4(x, t) = \sum_{i=1}^n k_i(t)x^i, \tag{33}$$

where  $k_i(t)$ ,  $i = 0, 1, 2, \dots, n$ , are functions to be determined later.

With the aid of Mathematica or Maple, substituting (33) into (22) and then setting the coefficients of  $x^i$  for  $i = 0, 1, 2, \dots, n$  to zero, we obtain a system of differential equations with respect to  $k_0, k_1, \dots, k_n$ . Then  $k_i$ ,  $i = 0, 1, 2, \dots, n$ , can be determined. For convenience, we only consider the case where  $n = 3$ . Then

$$k_0(t) = c_3 - (2\delta c_1 + dc_2)t + \frac{1}{2}(d^2c_1 + 9\delta dc)t^2 - d^3ct^3,$$

$$k_1(t) = 3d^2ct^2 - (dc_1 + 3\delta c)t + c_2,$$

$$k_2(t) = -3dc + c_1,$$

$$k_3(t) = c,$$

where  $c, c_1, c_2, c_3$  are arbitrary constants. Thus we get a new rational function solution for equations (4) and (5):

$$u(x, t) = -2\delta \frac{\phi_{4x}}{\phi_4} = -2\delta \frac{3d^3ct^2 - (dc_1 + 3\delta c)t + c_2 + (2c_1 - 6dct)x + 3cx^2}{\phi_4},$$

$$H(x, t) = -2\delta \frac{2c_1 - 6dct + 6cx}{\phi_4} + 2\delta \frac{[3d^2ct^2 - (dc_1 + 3\delta c)t + c_2 + (2c_1 - 6dct)x + 3cx^2]}{\phi_4^2},$$

where

$$\begin{aligned} \phi_4 &= [c_3 - (2\delta c_1 + dc_2)t + \frac{1}{2}(d^2c_1 + 9\delta dc)t^2 - d^3ct^3] \\ &\quad + [(3d^2ct^2 - (dc_1 + 3\delta c)t + c_2)x + (-3dct + c_1)x^2 + cx^3]. \end{aligned}$$

Case 4. Suppose equation (22) has the following formal solutions

$$\phi_5 = \gamma_0 + \sum_{i=1}^n \cosh \sqrt{\left(\frac{d}{2\delta}\right)^2 + \left(\frac{c_i}{d}\right)} x \exp\left(\frac{d}{2\delta}x + c_it + \gamma_i\right), \tag{34}$$

$$\phi_6 = \gamma_0 + \sum_{i=1}^n \sinh \sqrt{\left(\frac{d}{2\delta}\right)^2 + \left(\frac{c_i}{d}\right)} x \exp\left(\frac{d}{2\delta}x + c_it + \gamma_i\right). \tag{35}$$

Then after substituting (34) and (35) into Bäcklund transformation (15) and (16), we have another kind of new exact solution for (4) and (5):

$$u(x, y) = -2\delta \frac{\sum_{i=1}^n (\Omega_i \sinh \Omega_i x + \frac{d}{2\delta} \cosh \Omega_i) \exp(\frac{d}{2\delta} x + c_i t + \gamma_i)}{\gamma_0 + \sum_{i=1}^n \cosh \Omega_i x \exp(\frac{d}{2\delta} x + c_i t + \gamma_i)} + d,$$

$$H(x, y) = -2\delta \frac{\sum_{i=1}^n \left[ \left( \frac{1}{2} \frac{d^2}{\delta^2} + \frac{c_i}{d} \right) \cosh \Omega_i x + \frac{d}{\delta} \Omega_i \right] \exp(\frac{d}{2\delta} x + c_i t + \gamma_i)}{\gamma_0 + \sum_{i=1}^n \cosh \Omega_i x \exp(\frac{d}{2\delta} x + c_i t + \gamma_i)} \\ + 2\delta \frac{\left[ \sum_{i=1}^n (\Omega_i \sinh \Omega_i x + \frac{d}{2\delta} \cosh \Omega_i) \exp(\frac{d}{2\delta} x + c_i t + \gamma_i) \right]^2}{\left[ \gamma_0 + \sum_{i=1}^n \cosh \Omega_i x \exp(\frac{d}{2\delta} x + c_i t + \gamma_i) \right]^2},$$

$$u(x, y) = 2\delta \frac{\sum_{i=1}^n (\Omega_i \cosh \Omega_i + \frac{d}{2\delta} \sinh \Omega_i) \exp(\frac{d}{2\delta} x + c_i t + \gamma_i)}{\gamma_0 + \sum_{i=1}^n \sinh \Omega_i x \exp(\frac{d}{2\delta} x + c_i t + \gamma_i)} + d,$$

$$H(x, y) = -2\delta \frac{\sum_{i=1}^n \left[ \left( \frac{1}{2} \frac{d^2}{\delta^2} + \frac{c_i}{d} \right) \sinh \Omega_i x + \frac{d}{\delta} \Omega_i \cosh \Omega_i \right] \exp(\frac{d}{2\delta} x + c_i t + \gamma_i)}{\gamma_0 + \sum_{i=1}^n \sinh \Omega_i x \exp(\frac{d}{2\delta} x + c_i t + \gamma_i)} \\ + 2\delta \frac{\left[ \sum_{i=1}^n (\Omega_i \cosh \Omega_i x + \frac{d}{2\delta} \sinh \Omega_i) \exp(\frac{d}{2\delta} x + c_i t + \gamma_i) \right]^2}{\left[ \gamma_0 + \sum_{i=1}^n \sinh \Omega_i x \exp(\frac{d}{2\delta} x + c_i t + \gamma_i) \right]^2},$$

where

$$\Omega_i = \sqrt{\left( \frac{d}{2\delta} \right)^2 + \frac{c_i}{d}}.$$

Case 5. Since (22) is a linear equation, it is easy to show that the following combined form of the above six solutions  $\phi_i$ ,  $i = 1, 2, \dots, 6$ , is also a solution of equation (22), namely,

$$\phi(x, t) = c_0 + \sum_{i=1}^5 c_i \phi_i(x, t)$$

where  $c_1, \dots, c_6$  are arbitrary constants. By using the Bäcklund transformation (15) and (16), we get solutions of equations (4) and (5) of the form

$$u(x, t) = -2\delta \frac{\sum_{i=1}^6 c_i \phi_i x}{c_0 + \sum_{i=1}^6 c_i \phi_i(x, t)} + d,$$

and

$$H(x, t) = -2\delta \frac{\sum_{i=1}^5 c_i \phi_{ixx}}{c_0 + \sum_{i=1}^5 c_i \phi_i(x, t)} + 2\delta \frac{(\sum_{i=1}^5 c_i \phi_{ix})^2}{(c_0 + \sum_{i=1}^5 c_i \phi_i(x, t))^2},$$

where  $\phi_i$  ( $i = 1, 2, \dots, 6$ ) satisfy (23), (31)-(35).

### 3 Concluding Remarks

In summary, based on the improved homogenous balance method, by using Bäcklund transformation, several types of exact solutions for Kupershmidt equation are obtained. These solutions contain previously found solitary wave solutions and new rational function solution and periodic solution, etc.

**Acknowledgment:** Project is supported by the National Key Basic Research Development of China (Grant No. 1998030600), the National Nature Science Foundation of China (Grant No. 10072013, 10072189) and the Educational Committee of Liaoning Province (2021401157)

### References

- [1] M. L. Wang, Solitary wave solutions for variant Boussinesq equations, *Phys. Lett. A*, 199(2)(1995), 169–172.
- [2] M. L. Wang, Y. B. Zhou and Z. B. Li, Application of a homogenous balance method to exact solutions of nonlinear equations in mathematical physics, *Phys. Lett. A*, 216(1)(1996), 67–75.
- [3] J. F. Zhang, Multiple soliton-like solutions for (2+1)-dimensional dispersive long wave equation, *Intern. J Theoret. Phys.*, 37(9)(1998), 2449–2455.
- [4] J. F. Zhang, Multi-solitary wave solutions for variant Boussinesq equations and Kupershmidt equations, *Applied Math. Mech.*, 21(2)2000, 171–175 (in Chinese).
- [5] Y. H. Ruan and S. Y. Lou, Similarity analysis and Painlevé property of the Kupershmidt equations, *Commun. Theory Phys*, 20(1)(1993), 73–80.